09/14/04 16:08:40

## Election Summary Report 2004 PRIMARY ELECTION, YAVAPAI COUNTY, AZ Summary For Canyon - 46-01/02/03/04, All Counters, All Races OFFICIAL FINAL RESULTS

Registered Voters 1334 - Cards Cast 348 26.09%

Num. Report Precinct 1 - Num. Reporting 1 100.00%

US SENATOR (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	51	
STARKY, STUART	DEM 50	98.04%
Write-in Votes	1	1.96%

US SENATOR (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		280/640	43.8 %
Total Votes		247	
MCCAIN, JOHN	REP	241	97.57%
Write-in Votes		6	2.43%

US SENATOR (LBT)	LBT		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		4/10	40.0 %
Total Votes		4	
HANCOCK, ERNEST	LBT	2	50.00%
Write-in Votes		2	50.00%

US REP 1 (DEM)	DEM		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		64/305	21.0 %
Total Votes		63	
BABBITT, PAUL	DEM	47	74.60%
DONAHUE, BOB	DEM	15	23.81%
Write-in Votes		1	1.59%

US REP 1 (REP)	REP		
,		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		280/640	43.8 %
Total Votes		250	
RENZI, RICK	REP	248	99.20%
Write-in Votes		2	0.80%
US REP 1 (LBT)	LBT		<del></del>
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		4/10	40.0 %
Total Votes		4	
CROCKETT, JOHN	LBT	2	50.00%
Write-in Votes		2	50.00%
STATE SENATOR 4 (DEM)	D'	EM	

STATE SENATOR 4 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	8	
Write-in Votes	8	100.00%

STATE SENATOR 4 (REP)	REP		
, ,		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		280/640	43.8 %
Total Votes		255	
BURKE, SUSAN	REP	73	28.63%
HARPER, JACK W.	REP	182	71.37%
Write-in Votes		0	0.00%

STATE SENATOR 4 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	3	
Write-in Votes	3	100.00%

			Total	
	Number of Precincts		1	
	Precincts Reporting		1	100.0 %
	Vote For		2	
	Times Counted		64/305	21.0 %
	Total Votes		7	
	Write-in Votes		7	100.00%
	STATE REP 4 (REP)	REP		
			Total	
	Number of Precincts		1	
П			_	

STATE REP 4 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		2	
Times Counted		280/640	43.8 %
Total Votes		402	
BOONE, TOM	REP	157	39.05%
BURGES, JUDY M.	REP	176	43.78%
HUBBS, CAROLE	REP	69	17.16%
Write-in Votes		0	0.00%

STATE REP 4 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	4/10	40.0 %
Total Votes	4	
Write-in Votes	4	100.00%

CORP COMM 2007 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	4	
Write-in Votes	4	100.00%

CORP COMM 2007 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		280/640	43.8 %
Total Votes		230	
MAYES, KRIS	REP	124	53.91%
SEEL, CARL	REP	105	45.65%
Write-in Votes		1	0.43%

	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	3	
Write-in Votes	3	100.00%

CORP COMM 2009 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	3	
Times Counted	64/305	21.0 %
Total Votes	116	
CLARK, SCOTT	DEM 44	37.93%
MANOIL, MARK	DEM 34	29.31%
TRASOFF, NINA	DEM 37	31.90%
Write-in Votes	1	0.86%

CORP COMM 2009 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		3	
Times Counted		280/640	43.8 %
Total Votes		508	
GLEASON, MIKE	REP	168	33.07%
HATCH-MILLER, JEFF	REP	173	34.06%
MUNDELL, BILL	REP	164	32.28%
Write-in Votes		3	0.59%

CORP COMM 2009 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	3	
Times Counted	4/10	40.0 %
Total Votes	5	
Write-in Votes	5	100.00%

JUDGE SUP COURT 4 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	6	
Write-in Votes	6	100.00%

JUDGE SUP COURT 4 (REP)	REP		
,	-	Гotal	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted	280	/640	43.8 %
Total Votes		213	
HINSON, HOWARD, JR.	REP	211	99.06%
Write-in Votes		2	0.94%
JUDGE SUP COURT 4 (LBT)	LBT		
` ,	To	tal	
Number of Precincts		1	
Precincts Reporting		1	100.0 %

JUDGE SUP COURT 4 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	3	
Write-in Votes	3	100.00%

BOS DIST 2 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	5	
Write-in Votes	5	100.00%

BOS DIST 2 (REP)	REP	
	Total	al
Number of Precincts		1
Precincts Reporting		1 100.0 %
Vote For		1
Times Counted	280/64	0 43.8 %
Total Votes	26	8
STREET, LORNA D.	REP 11	9 44.40%
THURMAN, THOMAS	REP 14	8 55.22%
Write-in Votes		1 0.37%

BOS DIST 2 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	3	
Write-in Votes	3	100.00%

COUNTY ASSESSOR (I	DEM)
--------------------	------

Number of Precincts		1
Precincts Reporting		1 100.0 %
Vote For		1
Times Counted	64/30	5 21.0 %
Total Votes	4	8
MCKERLIE, VIC	DEM 4	7 97.92%
Write-in Votes		1 2.08%
COUNTY ASSESSOR (REP)	REP	
	Tota	$\mathbf{l}$
Number of Precincts		1
Precincts Reporting		1 100.0 %
Vote For		1
Times Counted	280/640	0 43.8 %
Total Votes	249	9
HAMBRICK, VICTOR	REP 133	3 53.41%
A CADDINIDIZ A TUDONI	DED 444	6 46 500/

COUNTY ASSESSOR (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		280/640	43.8 %
Total Votes		249	
HAMBRICK, VICTOR	REP	133	53.41%
MARTINEZ, A. J. "TON	REP	116	46.59%
Write-in Votes		0	0.00%

COUNTY ASSESSOR (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	3	
Write-in Votes	3	100.00%

COUNTY ATTORNEY (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	5	
Write-in Votes	5	100.00%

COUNTY ATTORNEY (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		280/640	43.8 %
Total Votes		212	
POLK, SHEILA	REP	212	100.00%
Write-in Votes		0	0.00%

COUNTY ATTORNEY (LBT)	LBT
	Total
Number of Precincts	1

	Precincts Reporting	1	100.0 %
	Vote For	1	
	Times Counted	4/10	40.0 %
	Total Votes	3	
	Write-in Votes	3	100.00%
	COUNTRY DECORDED (DEM)	DEL (	
	COUNTY RECORDER (DEM)	DEM Total	
	Number of Precincts	10tai 1	
	Precincts Reporting	1	100.0 %
.	Vote For	1	100.0 /0
	Times Counted	64/305	21.0 %
ı	Total Votes	64/305	Z1.U /0
ı	Total votes	U	
	Write-in Votes	6	100.00%
	·		
	COUNTY RECORDER (REP)	REP	
		Total	
	Number of Precincts	1	
	Precincts Reporting	1	100.0 %
	Vote For	1	-2.00/
	Times Counted	280/640	43.8 %
	Total Votes	223	
	WAYMAN-TRUJILLO, ANA	REP 220	98.65%
	Write-in Votes	3	1.35%
L			
	COUNTY RECORDER (LBT)	LBT	
1	•	Total	
	Number of Precincts	1	
<b>i</b>	Precincts Reporting	1	100.0 %
	Vote For	1	
	Times Counted	4/10	40.0 %
1	Total Votes	2	
1			

COUNTY RECORDER (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	2	
,		
Write-in Votes	2	100.00%

COUNTY SCH SUP (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	64/305	21.0 %
Total Votes	6	
Write-in Votes	6	100.00%

COUNTY SCH SUP (REP)	REP	
, ,	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	280/640	43.8 %
Total Votes	220	

STREET, PAUL	REP	220	100.00%	
Write-in Votes		0	0.00%	
COUNTY SCH SUP (LBT)	LB	<u></u>		
COUNTI BOILDER (LDI)	<i>ح</i> يد	Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1	100.0	
Times Counted		4/10	40.0 %	
Total Votes		3	1010 / 0	
Write-in Votes		3	100.00%	
COUNTY SUEDIEE (DEM)	DEM			
COUNTY SHERIFF (DEM)	DEM	Total		
Number of Precincts		10tai 1		
Precincts Reporting		1 1	100.0 %	
Vote For		1	100.0 %	
vote For Times Counted		64/305	21.0 %	
Times Counted Total Votes			21.0 %	
Total votes		8		
Write-in Votes		8	100.00%	
COUNTY SHERIFF (REP)	REP	m . 1		
NI L CD .		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1	12.00/	
Times Counted		280/640	43.8 %	
Total Votes		265		
BRENFLECK, RICK	REP	17	6.42%	
IRISH, ROBERT "BOB"	REP	71	26.79%	
WAUGH, STEVE	REP	177	66.79%	
Write-in Votes	1121	0	0.00%	
COUNTY SHERIFF (LBT)	LB			
		Total		
Number of Precincts		1	40000	
Precincts Reporting		1	100.0 %	
Vote For		1	40.00	
Times Counted		4/10	40.0 %	
Total Votes		3		
Write-in Votes		3	100.00%	
COUNTY TREASURER (DEM)	DE	M		
COUNTI IKEASUKEK (DEM)	DE	Total		
Number of Precincts		10tai 1		

H	COUNT TREASURER (BENT)	ואושעו		ll.
		Total		
	Number of Precincts	1		
	Precincts Reporting	1	100.0 %	
	Vote For	1		
	Times Counted	64/305	21.0 %	
	Total Votes	5		
	Write-in Votes	5	100.00%	

COUNTY TREASURER (REP)	REP			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		280/640	43.8 %	
Total Votes		231		
JACOBS, ROSS D.	REP	231	100.00%	
Write-in Votes		0	0.00%	

COUNTY TREASURER (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	4/10	40.0 %
Total Votes	3	
Write-in Votes	3	100.00%